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The compound insoluble in acetic acid is..

T Krish 5. Acid strength of the conjugate 2) water
e acids of the following are 3) 0.1 M-NH,(aq) (2) MnO, +4H" +2¢” > Mn™ +2H,0
Subject Expert, (D (II) (III) (IV) 4) 0.1M NaCl E°=1.23V
# LEO Academy, ~ 4 " 14. The set representing the correct then for th§ reaction:
A A H hoshe . ﬂ“ @ order of first ionization potential | (3) MnO,+4H" +3¢ —MnO, +2H,0
= 3 'yderabad S H ~/ N | o B i
DIO>I>II>1V : 1) k>Na>Li 2)Be>Mg > Ca ) 1.70V 2)5.09V
MODEL QUESTIONS 2)II>IV>II>1 - 3)B>C>N 4)Ge>Si>C 3)0.28 V 4)0.84 V
ChemlStry 15. 22. An ideal solution contains two

JHUS>UI>T1>1V Ammonia can be dried by:

On heating potassium ferro-
cyanide with conc. H,SO, prod-
uces a neutral gas 'A'. The gas 'A’
on treatment with caustic soda

AHII>IV>I>1I1

I, 2 - dimethyl benzene is subje-
cted to ozonolysis. The product
which is not formed is

Specm.l//

16.

1) conc.H,SO,

2)P,0, 3) CaO

4) anhydrous CaCl,

Na,S,0; is oxidised by 7, to :

volatile liquids A (P} =100torr )

and B B(PE? = 200t0rr). If mix-

under high pressure produced 'B’, 1 |CH0 D) Ch-c-con | 1) Na,HSO;  2) Na,S,0O, ture contains 1 mole of A and 4
what are 'A' and 'B' respectively. CHO b b | 3) Na,S 4) Na,SO, moles of B, then total vapour
1) CO, HCOONa 3) o cH,~c-c-ch, 17. For alkali metals, which one of pressure of the distillate is

2) NO,, NaNO, ’ 4) Lo the following trends is incorrect? 1) 188.88 torr 2) 198.88 torr

3) CO,, Na,CO,
4) SO,, Na,SO,,
The compound
acetic acid is

insoluble in

In hoffman hypobromite reac-
tion, an amide gives an amine.
Which of the following is more
reactive towards this reaction?

1) Density: Li < Na <k < Rb

2) atomic size: Li < Na < k < Rb
3) Hydration: Li > Na > k > Rb
4) 1onization energy:

23.

3) 150 torr 4) 180 torr
The rate constant for the

reaction, 2N,O, ->4NO, +0,, is

1) Calcium oxalate CONH, §oNA | Li> Na>k>Rb 3.0x10%sec™!. If the rate is-
2) Calcium hydroxide 1) @ 2) Qj . 18. Relation between given pair is: 2.40x102mole litre 'sec™!, then
3) Calcium oxide ch, a /’H woC the concentration of N,Os (in-
4) Calcium carbonate CONH, CONH w ;}‘“}"f’f mole litre™) is:

0 0 2 10. cncoonC2 4 Cefle p Hen o O H" Y on W6 M 14 2)12 3)0.04 4)0.8

OH- 0 * CHX;

3) [? 4) @
CH, o,

The structure of D would be.

1) Identical
2) Structural isomer

24.

Two glass bulbs A and B are
connected by very small tube

Which of the following is correct A crystal is made of particles OH OH 3) Enantiomer 4) Diastereomers having a stop cock. Bulb A has a
comparison of rate of haloform X,Y and Z. X forms fcc packing. 1) & EH: ) YW s EN‘ s 19. The major product in the volume of 100 mL and contained
reaction with various halogens? Y occupies all the octahedral OH on following reaction sequence is the gas while bulb B was empty

1) rBr, > rCl, > 11,
2) rCl, = 1Br, = 11,

voids of X and Z occupies all the
tetrahedral voids of X. If all the

3)cE> CHe E_COOH 4) tch,
H EN

3

&

(o]
cl (CH.).COK
Zn(Hg)/Hcl _ Bry/hv 3)3
}—'ﬂ“hAn(g)/thzhC

D (major
AT x—=> D (major)

and had a volume of 150mL. On
opening the stop-cock, the pres-

3) rCl, > 1Br, > 11, particles along one body dia- 11. Which of the following is purine sure of the gas in bulb A will fall
4) rl, > 1Br, > rCl, gonal are removed then the for- base s il down to

A complex of certain metal has mula of the crystal would be 1) Guanine 2) Cytosin 1) @ 2) m\ 1) 80% 2) 60%

the magnetic moment of 4.91 1) XYZ, 2) X,YZ, 3) Thymine 4) Uracil ,/\,& ,-\_ﬁl\ 3) 40% 4) 20%

BM where as another complex of 3) X.Y,Zs 4) XY, Z, 12. AU (change in internal energy) 3) @ 4) @ 25. 3 gram mole of phosphorus pen-

the same metal with same
oxidation state has zero magnetic

BH,/THF X
_AD:/OH X,Y are
CHy-CH,-CHyC=CH o

must be zero for
1) Cyclic process

20.

The correct bond order for NO

tachloride 1s heated in a flask of 4
litre volume. At equilibrium it

moment. The metal ion could 2) Iso thermal ideal gas expansion and NO™* are respectively dissociates to give 40% of
be...... and if that metal ion HES04 30 v 3) Iso thermal ideal gas compression 1)3,7/2 2)5/2,3 phosphorus  trichloride  and
forms a complex with EDTA, 1) Functional isomers 4) All 3)3,5/2 4)3,2 chlorine. The equilibrium con-
then its EAN would be...... 2) Position isomers 13. In which of the following solu- | 21. For the reactions stant is 2x107% . Then the value
1) Fe**, 36  2)Ag*, 36 3) Metamers bility of AgC! will be maximum (1) MnO; +8H" +5¢" — Mn™ +4H,0 of X is .......

3) Co?*, 36 4) Mn?*, 38 4) homologons 1) 0.1 M AgNO;, E°=1.51V 1)1 2)2  3)3 4) 4

epaper.sakshi.com

: . — —Scapr—1
( KEY & HINTS ) | effective nuclear charge. 23. 4; Rate constant (K) = 3.0x10sec
Acetaldehyde is not formed 15. 2; Rate of reaction
. - : : _ -5 ] cap—]
15 CO+ NaOH HCOONa 7. 3; Electron releasing group required Because NH; reacts with H,SO,, P,O,, = 2.40x10mole litre™" sec
8. 4; Conceptual and anhyd. CaCl, . Rate of reaction =
1; Oxa.hc a?ld 1s strong acid compared to 9. 1; CH,—CH, - CH, — C = CH —2amr_, 16. 25 2Na,S,0, + 1, — Na,8,0, + 2Nal Kx [molar conc. 05f N,Os ]
acetic acid H:0,/0H 2.40x10 ,
i ) o [NZOS]ZW = 0.8mol /litre
2; Formation of enol is rate determining CH, - CH, —CH, —CH, —CHO 17. 1; | | X
step. 0 D.ens1ty of alkali metal: 24. 3; Apply PV, =P,V,
1= n(n+2) BM CH,-CH, —-CH, -C =CH Hi;v?4 CH, —CH, ~CH, —C— CH Lf < k<Na < Rb< Cs 25. 1;
18. 3; PCl,— PCL, +Cl,
1; 491=yn(n+2) 10. 1; Non superimposable mirror image isomers | 0 0 t=0
OH .
n=4 ot g, | CHr C-COOH are enantiomers 3-3x04  3x04  3x0.4 atequilibrium
EDTA is hexadentate ligand Socl, @ HZN A HoO @ 19. 1; 12 12
. . . . . - . . 4 4 _
4; If acid strong is its conjugate base is | <o OG0 — = Bulky base prefers Hofmann elimination K. = E =02
weak 20. 2;
] o 11. 1; NO has 15 electrons where as NO™ has 14
ozonalysis , Gt i Guanine is a purine base electrons
— 2 |
o g 12. 4 o1 1. A6 =46, & JEE MAIN
& 70 .
] S For cyclic and iso thermal process for ideal > AG =-nFE :
= . . L
i, gas AU=0. X'A 100 1 1 ® Quick Review E :_II
13. 3: — = X—=8x'A=1—x, ) i
CH, ’ , , 22.1;1-X'A 200 4 ¢ Bit Banks Practice tests | !
6. 3; ozonolysis M o Due to formation of complex with NH;. .
— A tio 14. 3 | | 2 ® Previous Papers (=]
IC;O + é:o .I’ d h h f IP .X'Il,4 :—9¢Pm:100><—9+200><—9 |
| l n moving down the group, the first I.P. — . =
ah, e cown e SOUD, . visit: www.sakshieducation.com
decreases due to increased size and lower = 188.8 Torr




